
NAT I Medical Analytical

Sr Questions Answers Choice
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Choose the best answer; that is the response that most accurately and completely answers
the question.Follow is to the real Pakistan leaving behind the disturbances of civilization.
Real Pakistan is still inhabited by the eagle, the cow, the black deer, and tigers; it is still
spacious, sprawling, and majestic. Experience the freedom and serenity still to be found in
______,7. Choose the best option to complete the above statement:

A. The natural beauty of our land.
B. The fascinating urban centers
C. The wild terrain NWFP
D. One's own subconscious
E. The great sprawling cities of the
upper Pakistan
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Choose the best answer; that is the response that most accurately and completely answers
the question.One's ability to adjust in environment successfully leads to happiness. Wat at a
universal level destroys the weaker people who are the most unable to adjust to their
environment. Thus, war at the universal level puts weaklings out of their misery and allows
more space for their predators to enjoy life in a better manner. As those actions have to be
performed which maximize the level of happiness of the greatest number war at a universal
level should take place.6. If Rubina was born in NWFP, then she is a citizen of Pakistan. The
statement above can be deduced from which of the following statements?

A. Every citizen of the Pakistan is
resident either of one of the province
or of on of the tribal area.
B. Rubina was born either in NWFP
or in Sindh.
C. Some people born in NWFP are
citizen of Pakistan.
D. Every one born in Pakistan is a
citizen of Pakistan.
E. Rubina is a citizen either of
Pakistan or of any other country.
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Choose the best answer; that is the response that most accurately and completely answers
the question. One's ability to adjust in environment successfully leads to happiness. Wat at a
universal level destroys the weaker people who are the most unable to adjust to their
environment. Thus, war at the universal level puts weaklings out of their misery and allows
more space for their predators to enjoy life in a better manner. As those actions have to be
performed which maximize the level of happiness of the greatest number war at a universal
level should take place.5. What response would the author of the above discussion come up
with in the case of the objection that the weaklings far exceed strong people?I He would
respond with the statement that the person making the objection is a weakling.II.He would
respond by saying that weaklings will be miserable no matter what happiness.III He would
respond with the statement that the strong would be frustrated if the weaklings are
destroyed.

A. I only
B. II only
C. III only
D. I and II only
E. II and III only
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Choose the best answer; that is the response that most accurately and completely answers
the question.One's ability to adjust in environment successfully leads to happiness. Wat at a
universal level destroys the weaker people who are the most unable to adjust to their
environment. Thus, war at the universal level puts weaklings out of their misery and allows
more space for their predators to enjoy life in a better manner. As those actions have to be
performed which maximize the level of happiness of the greatest number war at a universal
level should take place.4. The author's discussion would br greatly weakened, if he agreed
to which of the following?i. Technology could change the environment.ii. War at the universal
level would be an integral part of the environment.iii. It is possible for the strong to survive
without suppressing the weak.

A. I only
B. II only
C. III only
D. I and III only
E. I, II and III only
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Choose the best answer; that is the response that most accurately and completely answers
the question. In an in vitro study 160 white cats were injected with Salt X. 160 other white
cats were injected with placebo. In two weeks 39% of the white cats who were injected with
Salt X showed symptoms of Key fever? Hence it can be concluded that key fever is caused
by some elements similar to the elements in Salt X.3. Wall chalking on public property should
be outlawed. Radicals and fanatics have no right to use public property when promoting their
unsavory views. The argument above is based on the idea.

A. The general public has an interest
in the free exchange of different
political views.
B. Every person who uses wall
chalking for the promotion of ideas is
a radical or fanatic,
C. Radicals and fanatics prefer the
use of public property while
propagating their viewpoint.
D. Legal constraints should be equal
for all
E. Any promotional activity which is
against public interest should be
protected by law
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Choose the best answer; that is the response that most accurately and completely answers
the question.In an in vitro study 160 white cats were injected with Salt X. 160 other white cats
were injected with placebo. In two weeks 39% of the white cats who were injected with Salt X
showed symptoms of Key fever? Hence it can be concluded that key fever is caused by
some elements similar to the elements in Salt X.2. Which of the following would most
strengthen the argument above?

A. Some of the elements in Salt X are
extracted from the root of a certain
poisonous herb of Hunza.
B. The blood test of the victims of
Kay fever revealed the presence of a
toxic element in their blood, normally
found in salt X.
C. Almost all the white cats died
within two days after the first
symptom appeared.
D. Normally the rate of Kay fever
among white cats is less than 0.01
%.
E. Within two weeks about 40 % of
the white cats who were injected with
placebo also contracted Kay fever.

A. People suffering from Kay fever
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Choose the best answer; that is the response that most accurately and completely answers
the question.
Q,1-2. In an in vitro study 160 white cats were injected with Salt X. 160 other white
cats were injected with placebo. In two weeks 39% of the white cats who were
injected with Salt X showed symptoms of Key fever? Hence it can be concluded that
key fever is caused by some elements similar to the elements in Salt X.
1. Which of the following statements would most seriously weaken the above
discussion?

A. People suffering from Kay fever
are the victims of the golden viper of
Sindh.
B. One among the 160 white cats
had already showed symptoms of
Kay fever prior to the experiment.
C. The natural habitats of white cats
does not contain any of the elements
found in Salt X.
D. The 160 white cats used in the
experiment were kept isolated from
each other.
E. The scientists administered the
injections being ignorant of the
contents of the salt used.
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Choose the answer you think is most appropriate among the given options. Three girls Joan,
Rita, and Kim and two boys Tim and Steve are the only dancers in a dance program, which
consists of six numbers in this order: One a duet; three a solo; four a duet; five a solo; and
six a duet.None of the dancers is in two consecutive numbers or in more than two numbers,
The first number in which Tim appears is the one that comes before the first number in which
Kim appears.The second number in which Tim appears is one that comes after second
number in which Kim appears.49. Rita must perform only in duets if

A. Kim is in number two
B. Kim is in number five
C. Tim is in number one
D. Tim is in number two
E. Tim is in number six
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Choose the answer you think is most appropriate among the given options. Six scientists A,
B, C, D, E, and F are to present a paper each at a one-day conference,Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.48. In case F and E are the fifth
and sixth presenters respectively then which of the following must be true?

A. A is first in the order of
presenters.
B. A is third in the order of
presenters.
C. A is fourth in the order of
presenters.
D. B is first in the order of
presenters.
E. C is fourth in the order of
presenters.
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Choose the answer you think is most appropriate among the given options. Six scientists A,
B, C, D, E, and F are to present a paper each at a one-day conference,Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.47. In case F is to present his
paper immediately after D presents his paper, C could be scheduled for which of the
following places in the order of presenters?

A. First
B. Second
C. Third
D. Fourth
E. Fifth
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Choose the answer you think is most appropriate among the given options.Six scientists A,
B, C, D, E, and F are to present a paper each at a one-day conference,Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.46. B could be placed for any of
the following places in the order of presenters EXCEPT

A. First
B. Second
C. Third
D. Fourth
E. Fifth
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Choose the answer you think is most appropriate among the given options.Six scientists A,
B, C, D, E, and F are to present a paper each at a one-day conference,Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.45. In case C is to be the fifth
scientist to present his paper, then B must be.

A. First
B. Second
C. Third
D. Fourth
E. Sixth
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Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.44. In case a passenger gets on the bus at O, rides past
one of the stops, and gets off at P, which of the following must be true?

A. O is stop one.
B. Q is stop three.
C. P is stop four.
D. N is stop five.
E. L is stop six.
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Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.43. In case L is the second stop, which among the following
must be the stop immediately before M?

A. N
B. L
C. P
D. O
E. Q
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Choose the answer you think is most appropriate among the given options. A bus has
exactly six stops on its route. The bus first stops at stop one and then at stops two, three,
four, five, and six respectively. After the bus leaves stop six, the bus turns and returns to
stop one and repeats the cycle. The stops are at six buildings that are in alphabetical order
L, M, N, O, P, and Q.P is the third stop. M is the sixth stop. The stop O is the stop
immediately before Q. N is the stop immediately before L.42. In case N is the fourth stop,
which among the following must be the stop immediately before P?

A. O
B. Q
C. N
D. L
E. M

Choose the answer you think is most appropriate among the given options. Multan Institute
of Higher Studies planes to show five educational films A, B, C, D. and E to a group of

A. B is the film shown between A and
C.
B. C is the film shown between B and
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of Higher Studies planes to show five educational films A, B, C, D. and E to a group of
students. The film shows are planned in an order. which conforms to the following
conditions:A must shown earlier than C.B must shown earlier than D.E should be the fifth film
shown.41. In case exactly one film is shown between A and C. and exactly one film is shown
between B and D. which among the following will hold true?

B. C is the film shown between B and
D.
C. E is the film shown between A and
C.
D. D is the last film shown.
E. E is the first film shown.
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Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.40. In case
B, D and E are to be shown one after the order in the given order. the two positions from first
to fifth in which A could possibly be shown are

A. First and second.
B. First and fourth.
C. Second and third.
D. Third and fifth.
E. Fourth and fifth.
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Choose the answer you think is most appropriate among the given options. Multan Institute
of Higher Studies planes to show five educational films A, B, C, D. and E to a group of
students. The film shows are planned in an order. which conforms to the following
conditions:A must shown earlier than C.B must shown earlier than D.E should be the fifth film
shown.39. In case D and E are shown as far apart from each other as possible which among
the following would be true?

A. A is shown earlier than B
B. B is shown earlier than C
C. C is shown earlier than E
D. D is shown earlier than A
E. E is shown earlier than B
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Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.38. Which
among the following is a pair of films that CANNOT both be shown earlier than E?

A. A and B
B. A and D
C. B and C
D. B and D
E. C and D
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Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.37. Which
among the following is an acceptable order for showing the educational films?

A. A, C, B, D, E
B. A, C, D, E, B
C. B, D, C, A, E
D. B, D, E, A, C
E. E, B, C, A, D


